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FACULTY OF HUMANITIES

B.A. (Second Year) (Fourth Semester) EXAMINATION

APRIL/MAY, 2023

ECONOMICS

Paper VIII

(Quantitative Techniques–II)

(Saturday, 13-5-2023) Time : 2.00 p.m. to 4.00 p.m.

Time—Three Hours Maximum Marks—50

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(iii) Use of calculator is allowed.

(i)

(ii)

(iii)

1. Calculate Karl Pearson’s coefficient of skewness from the following data : 10

X F

6 4

12 7

18 9
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WT (    2    ) FA—240—2023

24 18

30 15

36 10

42 5

Or

What is time series ? State the components of time series.

2. Calculate the first three moments from the following data : 10

X F

0—10 8

10—20 12

20—30 20

30—40 30

40—50 15

50—60 10

60—70 5

Or

What is index number ? State the uses of index number.
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P.T.O.

3. Calculate the 3-yearly moving averages from the following data : 10

Year Production

2000 54

2001 60

2002 62

2003 65

2004 68

2005 72

2006 80

2007 83

2008 55

2009 66

2010 78

2011 80

Or

Write a short note on Kurtosis.
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4. Calculate the consumer price index number by family Budget method from

the following data : 10

Goods            2015 2020

Price Quantity Price

A 5 8 10

B 8 10 15

C 10 13 20

D 12 14 30

E 15 20

Or

Explain the importance of time series.

5. Attempt any two of the following : 10

(i) Calculate the Kurtosis from the following data :

X F

3 2

4 3

5 5

6 1

7 4
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(ii) Find out a trend of straight line by using the method of least squares

to the following data :

Year Production

2011 80

2012 90

2013 92

2014 83

2015 94

2016 99

2017 92

(iii) Skewness

(iv) Significance of moment.

FA—240—2023 5

A13C08E5EB037AC5C68535A93B7C5E90


